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7 100kN/mM%#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~ -
s 1.00 | 0.00 ~ 448 55.89 | =S | 000 ~ 4.48| 1.93 10.11 st 1.00 | 6.00 ~ 5.00 55.89 | =h4 | 5.00 ~ 65.00| 1.93 10.11
2 100kN/mM%#BZ % - -~ - -|13mEFBZB| 000 ~ 005| 3.06 16.01 | 100kN/m#%#B 2% - -~ - -|3mEBZB| 1000 ~ 10.09| 8.05 16.01
s 1.00 | 0.00 ~ 448 55.87 | EnRSY | 0.05 ~ 4.48| 3.00 156.73 st 1.00 | 6.00 ~ 10.09 55.87 | =S | 5.00 ~ 10.00]| 3.00 15.73
3 100kN/mM%#BZ % - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - S| 3mEBZD -~
s 1.00 | 0.00 ~ 714 90.81 | #nWS | 000 ~ 714 )| 2.64 13.856 st 1.00 | 6.00 ~ 1209 90.81 | #hds | 5.00 ~ 1209| 2.64 13.85
4 100kN/mM##BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - S| 3mEBZD -~
s 1.00 | 0.00 ~ 589 73.72 | NS | 000 ~ 589|289 15.18 st 1.00 | 6.00 ~ 1210 73.72 | ThSY | .00 ~ 1210] 2.89 15.18
5 100kN/mM%#BZ 5 - -~ - -|13mEFBZB| 000 ~ 005| 3.06 16.03 | 100kN/m#%#8 25 - -~ - -|3mEHBZB| 1000 ~ 1210| 5.06 16.03
s 1.00 | 0.00 ~ 5.06 63.01 | FnLSY | 0.05 ~ 506 | 3.00 156.73 st 1.00 | 6.00 ~ 1210 63.01 | Thst | 5.00 ~ 1000 3.00 15.73
P 100kN/mM%#BZ 5 - -~ - -|3mEBZB| 000 ~ 0.12| 3.14 16.45 | 100kN/m#Z#B 25 - -~ - -|3mEBZB| 1000 ~ 1209 814 16.45
s 1.00 | 0.00 ~ 4.66 5805 | EnRS | 0.12 ~ 4.66 | 3.00 156.73 st 1.00 | 6.00 ~ 1209 58.05 | =hs | 5.00 ~ 10.00]| 3.00 15.73
- 100kN/mM%#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEBZD -~
s 1.00 | 0.00 ~ 481 59.89 | =S | 0.00 ~ 481 | 2.38 12.46 st 1.00 | 6.00 ~ 9.40 59.89 | =h4t | 5,00 ~ 940 | 2.38 12.46
P 100kN/mM%E#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -1 3mEBZD -~
s 1.00 | 0.00 ~ 4.00 50.14 | =nRS | 0.00 ~ 4.00 | 2.47 12.94 st 1.00 | 6.00 ~ 8.60 50.14 | =h4\ | 5.00 ~ 860 | 247 12.94
9 100kN/mM%#BZ % - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - S| 3mEBZD -~
s 1.00 | 0.00 ~ 461 5747 | EnRS | 000 ~ 4.61| 2.32 12156 st 1.00 | 6.00 ~ 8.10 57.47 | #hS | 5.00 ~ 810 2.32 1215
10 100kN/mM%#BZ % - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -1 3mEBZD -~
s 1.00 | 0.00 ~ 3.04 39.12 | #nRS | 000 ~ 3.04| 2.32 1214 st 1.00 | 6.00 ~ 5.00 39.12 | #hd4 | 5.00 ~ 565.00| 2.32 1214
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhest ~ zhst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhLst ~ FhLst ~ FhLst ~ st ~
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